7.2

1 f(x) [ab] 9(x) [ab] [a. b]
f(x) = 9(x) g(x) [ab]
[} £ (x)dx = ] g(x)dx
x=c (i=12.p)  f(x)#9(¥ [a,b]

a=Xy <X < <X,y <X,=b & elxy, %]

> 9(6)Ax - Y F(E)ax =X (@)~ F(E)x

> {c 2p
Ml=asgli£)b|g(x)|,M2=asgli£)b|f(x)|, Ve >0, 5=m
A =max{Ax}< 6
‘Z'(g(é)—f(é))AXi <&,
(0, 9 , J7 £ (0dx = [} g(x)dx

2 100 90 [ab]
J; 09000k [ t00ax ) [ a00ex )
f00=0g00=1xe02] [ f(dx=2, [ g(0ck=2
J;100geaax=2, [ f0ag0aax=( [ 100ax)-( [ o0oex

3 a,b,c [fegdx  [[feadx [0 f(x)dx

[0 fogdx = [ fodx + [ f(x)dx
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a<b<c j f(x)dx:j: f(x)dx+jb° f (x)dx

jb F(dx= [ F ()~ [ F ()= [ f () + j:’ f (x)dx

4
E xdx _[;xzdx _[f xdx _[12 X2dx
f_:(%)de [ 2xdx [Fsinxdx  [7 xdx
1 x € (0,2) X > X j;xdx >j;x2dx
2 X € (1,2) X < X2 f;xdx < f:xzdx
3 xe(-2,-1) (%)X >2 x e (0) 2 <2
j_zl(%)de > [r2xdx
4 x>0 sinx < x [ sinxdx < [ xdx
5 f(x) [ab] f(x)>0 0
[ fdx>0
f(X,)>0,x, €(a,b) XIiﬁrgjf(x):f(xo)>0 c>0
5>0(5 <min{a—x,,b—x,}) X € (X, — 3, %, +J) f(x)>c

Xp+

b Xg—0 +5 b 5
L f(x)dx:L f(x)dx+ _[:_5 f(x)dx + LM f(x)dx > LO_& f(x)dx >2c6 >0

f(x)>0,x,=a X, =b

[(f(odx=0 vtelab], [ f(x)dx=0
Fi)=[ f(odx  [ab] F'(t) = f ().t <[a,b] f(t)=0
[[f0dx>0
6 f() [ab] J; f2(x)dx =0 f() [ b] 0
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f(x) [a,b] f2(x) [a,b] f2(x)>0
7 f(x) [ab] (a,b)
o 2
b_ajaz f (x)dx = f (b)
$e(ab) f'(§)=0
dne [a,aTer],
ath
f () = 2 f(x)dx = f(b)
b-a-a
f(x) [nb] Rolle 3¢ € (,b)  (a,b) /(&) =0
8 o(t) [0,a] f(x)  (—o0,40) f"(x)=0
f(i joa(p(t)dtj = j: f (p(t))dt
a a
[0,a] O=t, <t <---<t, , <t =a

At =t —t, A =max{At }. ¢ e[t o, t] f Jensen
5.1 24

(3o ] <3 rens:

A—0
f[i j:(p(t)dtj < lj: f (p(t))dt
a a

9 f(x) [01] a <[0]]

[ f00dx 2 j: f (x)dx

a €[01]
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t-a)[ f(dx=a f f (x)dx
% €[0,a]
X, €[, 1] (1-a) jo f()dx =al-a)f(x) « jl f (x)dx = a(l—a) f (x,)
f(x,)> f(x,) 1-a) jo f(x)dx > & f f (x)dx
Fl@)=] f(dx-a j; f (x)dx F'(a) = f(a) - jol f (x)dx

3cef0d, F@O=[T0&  Fla)=f@)-1©

f O<a<é  F@20  F(a)
f<a<l  F(a)<0  F(a) F(0)=F1)=0
Va e[0d], F(a)>0

o =0 o (0]] X = at
f [ fdx=a j: f(at)dt > a j: f ()dt
10  Young y=f(x) [0, )
f(0)=0 x=f7(y)

[[fooox+ [ ti(y)dy=ab  a>0,b>0
b= f(a)
[0,a] O0=X, <X <-<Xp4, <X,=a
yi = f(x)(=012,---,n) 0=y, <y, <<y, <Yy,=b

AX; = Xj — Xi—l’Ayi =Y —VYia

i f(X_1)AX + i f=(y,)Ay; = i Yia (X —Xig) + ixi (Yi = Via)

=X, Yy ~ XY, =ab

1<i<n

A = max{Ax } A—=0 D E(X)AX + D FE(y)AY,
i=1 i=1
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a b

jo f (X)dx + jo f 2(y)dy

a b
b=f(a) jo f (x)dx + jo f*(y)dy =ab

a b
F(a) = jo f (x)dx + jo f1(y)dy —ab
F'(a)=f(a)-Db f(T)=Db O<a<T F(a) a>T
F(a) F(a a=T
F(T)=0 F(a)>0

a b
b=f(a) jo f (x)dx + jo f*(y)dy =ab
11 f(x) f,(x)=f(x+h) [ab]

Ligg[:uh(x)— f(x)|dx =0

f,(x)= f(x+h) [a,b] 0>0 f(x)
[a-5b+6] [f(¥)[<M (xe[a-6,b+5])
f(x) [a b] Ves>0 [a, b] n P
b-a_ &
n 8
S wax < £ Ax, = 2= =12, n)
i=1 6 n
b2 s Oy, 0 f (X [a-22 4
n n
b-a
[b,b+T] a)OSZM 0)n+1£2M

JI6.00- 100 180=3 [ [,00- F() 1= D] (& +h)- F(&)|x
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b-a . &
h < ——<min{—,¢5 e[x ., X
||< n < I{SM } §|E[|—l |]

éi the [Xi—Z’ Xi—l]U[Xi—l’ Xi]U[Xi’XiJrl] X, = a_T’ Xpy1 = b+T
|f(§i +h) - f(§|)| SO, to T+ o,

'[:| f,(x)— f(x)dx < Z(a)i_l + @, + 0, )AX, < %+ (e, + a)ml)b_Ta < §+E =¢
i=1

lim [7] £,(x) - f(x)|dx =0
12 f(0 g [ab]
(1)  Schwarz [ [ f(x)g(x)de < [" 12000k [ 97 (dx
(2)  Minkowski
{[:[f () + g(x)]deF < {[: f 2(x)dxF + {[: g%x)dxF

1 t jb [tf (X) + g(x)[2dx >0

2 jb £2(x)dx+ 2t jb £ () g(x)dx+ jb g2(x)dx >0

[ 00g000x] < [ £2(0x- [ g% 00

2 ,[:f(x)g(x)dxs {I: fz(x)dx}i {f:gz(x)dx};

[ 12090+ 2] £ (9g(ax+ [ 920K

< [0 2 (x)dx+ 2{ N fz(x)dx}; { _[:gz(x)dx}i +[ g2 (9dx
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N

[LTF 00+ g00Tdx < [{ [ fz(x)dx}; H [ 9" x|

|

{[:[f(x) ¥ g(x)]zdxF < {[” f 2(x)dxF + {[b gz(x)dxF

13 f(x) g(x) [ab] f(x)>0 g(x)>0

im0 9 = max (1)

[a,b] g(x)>0 0<m<g(Xx) <M <+

A= f(£)=max f(x) A>0 A=0

lim f(x) = 1(c), Vo<e<A 3la,plc(ab] ¢ ela,pl
x € [, B O<A—e< f(X)<A

1

(A=)m(B-a) <{[! 1" (0g()x|" < AM (b2

n— o [m(ﬁ—a)]%—>1 [M(b—a)]%—>1 aN >0 n.> N

Vo £ N . 28
M(F-al" >1-—  [Mp-a)]" <1+ n> N

1

A-2¢< {jb f“(x)g(x)dx}'l] <A+2s {jb f"(x)g(x)dx}” _A

<2¢&

1

lim {70 (T 9(0x|" = A=max 1 (x)
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